=%

_ _ . BIE (F [EEE (B .
EMAR (TEELH A EMADBRE, |ITBHM (EEFRW) AR = oz 2 = | =&
W ) BUORE | (REHE) mig |1 ma | EmE perupmn pempeEnme  |DEar 2|8 BRe [P EE 5
= 5 & 2=
BT (FR) |[##tPH [HSDH iwz Bek | S, HE4m m m &m (m|m
1381| Kfkh X E3EIL
1952 X827 —FERT KB T A B 78 X w3 ST # EME E [20144£02,58/%| 1] 35] 2 24,057 228F 1014.28]  1,583|8FF o J=HEFRESE [RAHHIV YLV [121.7
2| BBt H—FT > SEHSHE KB i A B 78 (X m 3T £ F{E % [20034E06 8 ( | 1] 20 10, 265 1455 EEES JS5ZPM_ [ 60.0]
TSI L—RIETIHR T— BRI T OOz J | KRAFABR T 7 X m I8 T| 2E R 4E % [2007/2/16 ( 1] 38] 1 30, 484 21457 (EE213F  1,548] 2,697|RC (BEIMPIHE [BHENDDVIIRTL, H136.2
41— H 27 —miET 4 —4 & ) —F| AR AT KBR 1 8 X FE iR T R = (20104078 A | 32| 1 31,982 2659 1,475] 3, 277|804 iEKES BKEE 118.40
S5|Fw— cEIEIT BRI Y S 3 | KBRAF AR 76 X B T | 3£ R £ (20094 /3.4 (] 1] 25 10, 280 89F 569 1,096 | 85850 > {Fn 4R HEEE
6[oA 27 —FET BRI ERE X [ KIRFARTFERXaE L X EEE (20165028 F10 | 35] 2 24,875 2057 1,369(2.582. b2|#kfFa VM ITHIE [P ITHE 113.0[118.9




